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1-John is over two hours late already. He .................. missed the bus again.
might has (@ should have (3 could have (@ must have
2 - The amount of something in a unit, volume, area, or length is called .................. .
quality @ structure density @ pattern
3 - After the war, they are going to .................. all the damaged buildings.
increase @ supervise reconstruct (@ reproduce
4- e the bottle before taking the medicine.
Shake @ Locate 3 Float @ Include
5 - If you want to make a left turn, .................. speed and give a signal in good time.
increase (2 defeat reduce ignore

6 - Too much pressure produced by the blood pressing against inner walls of the blood .................. i
called high blood pressure.

joints (@ ankles nutrients (@) vessels
7 - Bob went to the library .................. he could study in a quiet place.

in order to (2 even though so that since

8 - By burning .................. in the food as fuel you can do all functions of the body.
nutrients (@ endorphins chemicals (@) vessels
9 - He made his speech boring by .................. too many difficult words.

(@) use @) used using used
10 - Mary pays more attention to her diet, .................. her sister doesn't.

when 2 whereas @) since @) furthermore
11 - In spite of their extreme .................. the local people are friendly and cheerful.
curiosity @ poverty achievement amusement
12 - Adog ran out in front of the car .................. we were driving along the road.

since @ as (3) because @ after
13 - He wouldn't take just any book - he had to have this .................. onel!

particular @ positive sudden @ natural
14 - A lack of formal education will .................. your job opportunities.

join @ exist (3 save @ nit

15 - The cooker was very dirty and it was hard to .................. all the dirt from it.

(@) remove @ estimate provide @) prevent
16 - A: "Ali didn't get to school on time."

B:"He ..vvvenee have got up earlier."

should @ must would might
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17 - Reza is sick and the doctor has advised him to .................. the amount of fat in his food.

ignore @ reduce prepare destroy

18 - The scientist .................. a new research is very prominent.

carrying @) carrying out @) carried @ did

19 - Not only can a hovercraft be used as a land .................. , but as a means of transportation by water.
feature @ vehicle mineral @ phase

20 - Our teacher makes us all .................. jackets, even in summer.

wear @ wore to wear wearing

21 - After weeks of inaction, the government is taking a series of new measures. "Inaction" means:

-------------------

peace @) result @) rest @) event

22 - When the fire broke out, the little girl and her mother were .................. inside and the firemen could
not save them.

disturbed @ included (@) released @) trapped

23 - You should believe me, our ice cream contains no .................. colors or flavors.

handheld @ exact artificial domestic

24 -You can learn more if you .................. your studies.

concentrate on (@ ignore (@) evaluate (@) emphasize

25 - Exercise reduces the risk of cancer, .................. intestine cancer.

firmly @ previously actively @ particularly

26 - The bus stopped ........cccueee..e the students could get off.

so that @ so that so as to however

27 - Mother Teresa's work .................. a lot of attention all over the world, and she was given a number
of awards including a Nobel Peace Prize.

connected @) served @) paid (@) received

28 - The show | went to see last night was such an exciting one .................. | didn't breathe for an hour.
so that @ while that @ as

29 - There is no way to know how many people will be affected by the storm, but we .................. it will be
in the thousands.

survive @) estimate inform prepare
30 - He threw the bottle into the waves and watched it .................. out to sea.

float (2 shake (3 stik @ follow

/
L

poren )

z



/—,mlu,ﬂuﬁawu,uﬂ;ﬂ— fliiaf ~

75 dolisemly

Fay;8)

aanl 9313 Canwd 1) ugrgil 0,)b95 L 91235 113 0931 45 ol cuclun 93 pb

bl oo LGS 9 JV> 4 4395 L i3S )5 s plosl s ke (05 4o 9 bluwl ;S5 must have +p.p w)jle
b gio

Va8 oy

2394 50 840U (JEz) CBLE (Jsb b b x> 219 )3 (S juz Jlade 1dhoz 2o

SI(F JSE&= (¢ sl (P CadaS ()

buwgio

Fays oy

Sigles (il 1) 8393 cuwT b Olois b plos 3515 2uad b OT iz jl a2 1 dhox e

03,5 3dgs b (F 03,5 ikl (¥ 03,5 &)W (¥ 0313 ael33l ()

bsgio

IEUP L

232 OIS L s ks 9015 03095 I b 1oz (e

Oxb Jol (1 ol ol (¥ 03,8 g (¥ 03l OIS ()

Olwl

Va5 -a

3ud Cuolhe @90 1 9 3iS 05 1) Ca o Jazrany a7 Chows 4 2adlgS 0 S| idlox o

O3S ts“’":r"‘i"(“ o))SIoS(\" O3> S (Y O3l il 581 ()

oluT
FawS_s

sl pgus po Vb 093 JLid 2 35 (0 Slowl (93 Sl S (A5 S 0)l925 4 45 S93 (§ Uy 4 45§35 I Gl JLididlox  izo
S,(F sigaslye (P Sigddyge (Y Juaio ()

bsgio

Va8 oy

ilgsn s el e S5 s 2ilgn b ) Gluls 4 b

394 50 03wl 50 that + dez jl 58 plouil jl Ban 9 yghiie cuad Olu sl

ol

V4S5 A

2 plouil 1) 03 sl plod suilgi (o0 i gaw Olgie 4 132 )5 39290 (§3%0 330 O3 Ljgmw b il sizo

Sy(F 2o Slge (W o9l (P (2132 slge ()

buogio

Va5 q

235 3368 s Ylgals Ol (630 slawy jl aslaiwl b 1) 395 Sl pisew 9l

39 52 )5 4 o plwil 092 Oy sl 2 by + V + ing sl

ol
Y4500

s 495 ol 9l jales a5 J> 5 5 05 Gios o 4 (3L 4295 S

poren )

239050 JS 4 oz ¥ o (ealtiuns 3L5) 3UA5 Ol (s 2 Whereas a

h.-a,.’.‘.ol

N r J




/—,m|uﬁuﬁs>wa,,uﬂ;ﬂ— fliiaf ~

PawSo)
iy S 9 (VU pw) (Flod93 2 i 929 U (Jomo p3 o tdhor (S0
S e F B syl g ()

Olwl
Pau8_y
3293 adile (S9kr 4 S S5 2392 031> 43 (S aiil) > s €S SGloj e Simo
390 50 IS 4 aS Olojed Jos 95 Oy sz
busgio
IS |
.ﬂh%l)l)ual&gwdl),g)w—C.;é)fuo.ibw‘uUS&,J)A,l:do.?&&o
b (F SeSL Cako (V 2349 (ol ()
b gite
Fau;s e
23) 38lg3 4 i o b SbCuRBgo U sow) Ghigel S90S dlox  si%e
U303 S 3)le 4 o (F 297 B 0 (¥ Osls 929 (VY Siwe ()
olwT
V4500
92 it Sl OT j1 b (S390T plos 0393 9 392 alS Jlowny J 1dlozr ino
035 5 xS sl (F 03,5 eal,d (¥ 03,5 39T (¥ 030 o ()
buwgie
VS g
S S A 3o 4 BBg0 4 Jo
b (00l Sly> 5395 b
D385 Jg b g0 plovl 43S )5 b S Joe 4o L
buwgio
PaSoy
DS eS GwlAe )3 1) 2oz e 45 Cuwl 03,5 duogi 9l 4 5SS 9wl A pe Lo yidhes Sie
O35 G 35,035 3906 (F 03,5 bgo ,03,5 a3LT (¥ 0315 EalS 03,8 oS (¥ o%8,5 83036 ()
bsgio
PaS A
ol Bz o (Ju 323 (50 plovil (§30 33 Galizd 45 (§3keld
S (50 23l ING jl 39 Fo o )5 pole Jgoge O )le 09
carry out :osls .al:_a|
buwgie
Y4514
I8 o3kl 390 35 2T Ji5 9 Jo> (slwy SO Olgic 4 4L 35 a3kl (o) (59 2 (Slaws Olgic 4 2195 co COS 3l L & idlox (ine
))"Sls‘
ol (F =0 503k (W Ay <9395 (V ;}.3_9(\
Ol
V45 -vo
o 95 (50 10 0930 y3ue O yguts 1) J2b JSb g 9 020 (50 IS Ugmio S Iawl let 9 make J’U%

ol Pt
- 'S
Vaus oy

IV 2o 4 "INACION" 3L (o0 932> Olaaged (5w S Jaino s ciber by win jl Gur T

sl (F Aoy (Y o (Y e () |

N f J




T Ablle 555 e st 550 1 glii) ~
buwgie

F a8 vy

33 Ol ) boT skuilss QULESET 9 3538 Gugame [Oleisbw] J315 Gboole 9 S i3 i abj (T Bgr 1oz G40z 4

Oxd Jolid (P O3de>je (03,5 Jise ()

03,5 gugazme (i1l pls 4 (F 03,5 ST (¥

olwT

¥4 S py

sl (58 9o p2b b (S5 236 Lo iy 35S 9k Wb oz

Sl (A5 (P eoman (M @ads (P s ()

oluT
b 45 pr
2 S (50 Ol il 35S S poi 393 Olallhe $9) 22 S| ez 5
03,8 28T (F 03,5 2L (¢ o2 ,8 03930 (P 90 R ulg= 55 05 ()
ol
F a8 _vs
1) 239) Ol paw (290034 B3 g0 JudlS |) Ol juw ybS () )9 1402 )5
weras (F GYled (V¥ JuS 1 (Y =8/ oSze yobas ()
bawgio
IEES L 2
1ouaiS 50 0Ll i OluS 5 jl )8 plovil jl gliie 9 Ban Ol sl g
o that 'so as to due to
0 order that } in order to p J=8 because of > ol
to in order for
39 03k 3553 OligeTtils 4l b bl o951 102z )5
ol
FaS_ry
3 el 9l 4 (Jogi o Bl dho jl o juler (631385 9 3,5 Clr Ol pawli s )3 1) (3L 4295 1 5 Jole s )IS) :dho 4oz 5
03,8 s (P 0355 Joog 03,5 )18 2 BLsJI()
0,8 by (1 o5l e (W
I e LSS
Gl (03,5 Ll gze 4''TECEIVE attention” g (03 ,S 4299 2o 4 "pay attention
ol
Va8 PA

35 o i 33 1) s ulan Sy (532 4 392 56510 0mad (635 4 08y OT 033 S s> 45 (5l

(So+adj.+that ---Such+ (a/an)+(adj.)tnoun .sgé e 83kl OT 4 9 Jhoe Oy (512 SO/such that ,kslw)

b gite

Y45 rq

Sy 3055 55 OLl3a 4 T Jlad 45 35 uedts Olgs g0 Lol & )5 3inlys 15 Ogb »dl i 45 3iz a9 4 gt0 b 3,135 3929 2l

| s estimate Jod a3 o0 O ) dlasi 45 how many $aulS 46dS 4 445 b(':

ol &

48 _vo E‘

w')’hwb))))gﬂ45))slwlugéﬁubyc|,a|‘_}>|)4a|)‘5)b3E

03,8 Jis (F O3amnz (W osls oS5 (¥ 0o solid (1 =
UL.:I

N > J




SIS Lolisewly

() -r
D

1
&)@
22— 22—

@R

3

3
2=

(D)
(D) -
(7)1
@

1 1 1 1
EBEE
— — — — 2

~ 2 = 9 -

8[3[o[8[8

e 3

-3 2
1 1 1

= X 3 - 32

slafe[e[o




